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1. Constituent particles of CCl, are: 1 CCl, & 3agdl U3 :
(A) lons (B) Molecules (A) ST (B) GM. .
(C) Atoms (D) None of these (C) 9XATY (D) TH I PR Tl

2. The oil used as frothing agent in froth
floatation process is:

(A) coconut oil
(C) pine oil

(B) castor oil
(D) None of these

3. A metal has fcc arrangement and edge
length of the unit cell is 400 pm. Its
atomic radius is:

(A) 124pm
(C) 142pm

(B)132 pm
(D)128 pm

2 T o fafyr & T sifipe & U |
JUINT fHar Srar g

(A) TRTT dd &1
) s Fda &

(B) 3RS & dd BT
(D) 3TH Y D13 e

3 U 4T D! Haldh dbivsd g TR
2 3R U HINDT B fHR BT darg
400 pm 8 3% TRHTY] Bt FBrean gt :

(A) 124pm
(C) 142pm

(B)132 pm
(D)128 pm




. Anionic compound has bcc structure
with atoms A occupying the corners of
the unit cell and B at the body center.
The formula of ionic compound is :

(A) AB
(C) AB;

(B) AB3
(D) AB4

. Which of the following is an example of

diamagnetic substance?

(A) NaCl
(C) FeO

(B) CuO
(D) TiO,

Diamond is an example of:

(A) lonic solid

(B) Molecular solid
(C) Covalent solid
(D) Metallic solids

. The ratio of number of moles of solute

to the total number of moles in
solution is called:

(A) molarity (B) molality
(C) mole fraction (D) ppm
Conductivity =............... X cell constant

(A) resistance

(B) molar conductivity
(C) conductance

(D) resistivity

. Galena is an ore of :

(A) Cu
(C) Fe

(B) Pb
(D) Al

4. & MG GRS B 3: Divsd 14
WA ], ST BT IR A TRHT
JURRY § STafds B URHAY] Uhdh IR
& 3 g R g, TS BT P 8Tl

(A) AB
(C) AB;

(B) ABs3
(D) AB4

5 9 QDI UfagEa g uard &1
IR G ?

(A) NaCl
(C) FeO

(B) CuO
(D) TiO,
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7 Tt faera= o faoia & dial wd faag o
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(A) TRl

(C) HIS 3T

(B) HIcTerdl
(D) ppm

(A) Cu
(C) Fe

(B) Pb
(D) Al
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12.

13.

14.

15.

. The electronic configuration of Cr**
(Z= 24)is:

(A) [Ar]4s'3d®
(C) [Ar]4s'3d?

(B) [Ar]4s'3d?
(D) [Ar]4s°3d3

. Transition elements are :
(A) s- block elements
(B) p- block elements
(C)d- block elements
(D)f —block elements

Phenol reacts with Zn dust to give :

(A) Benzene
(C) toluene

(B) cyclohexane
(D) cyclohexene

Salicylaldehyde can be prepared by :

(A) Gattermann Koch reaction
(B) Sandmeyer’s reaction

(C) Reimer Tiemann reaction
(D) Wurtz reaction

The IUPAC name of
CH3CH2CH(0H)CH2CH=CH2 is:

(A) Hex-5-en-3-ol
(B) Hex-1-en-3-ol
(C) Hex-1-en-4-ol
(D) Hex -1-en-3-ol

Calcination is used for :

(A) chloride ore
(B) carbonate ore
(C) oxide ore

(D) sulphide ore

10. Cr**(Z= 24) 1 3AACIH GO | -

(A) [Ar]4s'3d®
(C) [Ar]4s'3d?

(B) [Ar]4s'3d?
(D) [Ar]4s°3d3

11. YAV IA T :

12. fipAra, foie & sififora R AT o :

(A) St ORIPENIRERE
(C) O RIPENIRERIG]

13. AfcREAsIfEgse SRTWT dhdl g

(A) e g sifyfosan
(B) TeATR SifHfepar

(C) ASHR - eTsH UfHfHar
(D) g AfYfehaT

14. CH3CH,CH(OH)CHCH=CH;

HT IUPACATH T :

(A) B9 -5-39-3-3Td
(B) BRI -1-3-3-3iTd
(C) TR -1-39-4-3{id
(D) B -1-39-3-3{Td

15. P &1 ST BT ®

(A) FARTSS 3D b [olg
(B) PTEC 3B & faw

(C) 3T TP & forw
(D) PhISS 3D o oy




16. The number of Bravais lattices for
cubic crystals is :

(A) 3
@ 7

B 4
(D) 14

17. The radius of an atom in a body
centered cube of edge length ‘a’:

av3/2
aV3/4

(A)
€

a/2
av2/2

(B)
(D)

18. Relative lowering in vapour pressure is
equal to :

(A) molarity of solution

(B) molality of solution

(C) mole fraction of solute

(D) mole fraction of solvent
19. The molarity of the solution
containing 7.1 g of Na,SO4in 100 ml
of aqueous solution is :

(A) 1M
(©) 0.005M

(B) 0.5M
(D) 0.9M

The number of moles of NaCl in 3
litres of 3M solution is :

20.

(A) 1
< 9

(B) 3
(D) 4

16

17

18

19

20

. I fohed | S STedh| bl TS

GEIEE

(A) 3 B) 4
< 7 (D) 14
. T® 3d: Dhald g1 Thdb DHIYdT

oI foR &1 aTs ‘a’ 8, T TRAIY]
ﬁGQT_E?ITﬁ:

(A) a/2 (B) av3/2
Q) av2/2 (D) aV3/4
.% & I 219 § 3GTHT SRR gidl

A) o &t Aiekar &
B) faoad &t Aidaial &
C) focu& A 3 &
D) fadr® & A9 3R &

. 39 faea= ) AveRdr & gt forgss
100 mLH 7.1g Na,S0, § ?

—_~ o~ A~ o~

(A) 1M
(C) 0.005M

(B) 0.5M
(D) 0.9M

. 3M AT & 3 fofex # NaCl & Aldl
ﬁﬂ'@ﬂ_@"ﬁ

(A) 1
< 9

(B) 3
(D) 4




21. The mole fraction of benzene in
solution containing 30% by mass in
carbon tetrachloride is:( molar mass of
benzene=78u; molar mass of

CCl4=154u)
(A) 0.556 (B) 0.992
(C) 0459 (D) 0.783

22. Which of the following is not a good
conductor ?

(A) Cu metal
(C) NaCl (molten)

(B) NaCl (aq)
(D)NaCl (s)

23. The unit of cell constant is:

(A) ohm™'cm™
(C) ohm™'ecm

(B) cm
(D) cm™

24. During electrolysis of aqueous CuSOy4
copper is deposited at :

(A) Cathode

(B) Anode

(C) Remains in solution

(D) CuSO,4 does not dissociate

25. If limiting molar conductivity of
Ca®* and CI” are 119.0 and 76.3
Scm’mol™, then the value of limiting
molar conductivity of CaCl, will be :

(A) 195.3 S cm? mol™
(B) 271.6 S cm? mol™
(C) 43.3 S cm? mol™

(D) 173.55 cm? mol™

21. SIF 3R HIE CCIFARISS o [qaTH
H Sl B goqH Uf=Tdal 30% §,
=i T HIeT 3= g1 -

(SIS T HITR SouHI = 78u; T
CCl, BT HITR SHHM = 154u)

(A) 0556 (B) 0.992

(©) 0459 (D) 0.783
22. 50 A B9 TP el 87

(A) Cu T (B) NaCl (aq)

(O NaCl &d)  (D)NaCl (s)

23. Jd RRIP &1 A &:

(A) ohm™'em™
(C) ohm™'cm

24. ST CuSO, & faggd 3uee ¥ HIR
H@Wm%

A) PUE R
B) T8 W
C) focaa #
D) CuSO, 3ugfed 4l gar g

25. Ca2* dYT CI” ! WHid AR Iredhdl
SR 119.0 3R 76.3 Scm? mol ' B
CaCl, ® TAd AR ITaddl ghit:

(B) cm
(D) cm™

—_~ A~ o~ o~

(A) 195.3 S cm? mol”
(B) 271.6 S cm? mol™
(C) 43.3 S cm® mol™

(D) 173.5S cm® mol™




26. 1f 96500 coulomb electricity is passed

through CuSQy solution, it will liberate:

(A) 31.76g of Cu
(C) 15.88g of Cu

(B) 63.5g of Cu
(D) 41.6g of Cu

27. Anomalous electronic configuration in
the 3d series are of :

(A) Mn and Cu
(C) Co and Cu

(B) Fe and Cu
(D) Crand Cu

28. The property which is not characteristic
of transition metals is:

(A) variable oxidation states.

(B) tendency to form complexes

(C) formation of coloured compounds.
(D) natural radioactivity.

29. KMnQOgis an:

(A) oxidising agent

(B) reducing agent

(C) both oxidizing and reducing agent
(D) none of the above

30. The number of isomers formed by
C4HoBr is:

(A) 8
(OXS

(B) 10
(D) 4

26. CuSO, & Wit faea@= ¥ 96500 C

3T Jalfed B3 W a9 g -
(A)31.76g Cu (B)63.5g Cu
(C) 15.88g Cu (D) 41.6g Cu

27. 3d 9Uft § ®H I Tl &1 g ifafia

ZAdCI® I UefRid R g ?
(A) Mn 3R Cu (B) Fe 3R Cu
(C) Co 3R Cu (D) Cr 3R Cu

28. sgﬁ'@r I HhHUT dcd o1 [ARINaT 8!

29. KMnO4 @ :

(A) MFHHRD

(B) 3THRP

(C) 3NRIPRSD TG THRD Gl
(D) 371 A PIs T8

30. C4HoBr % THIGUG! Bl BT T -

(A) 8
(C) 6

(B) 10
(D) 4




31. The negative part of the addendum
(the molecule to be added) adds on
the carbon atom of the double bond
containing the least number of

hydrogen atoms. This rule is known as :

(A) Huckel's Rule
(B) van't Hoff rule
(C) Saytzeff's rule
(D) Markovnikov's rule

32. Alkyl halides are immiscible in water
though they are polar because :

(A) they react with water to give
alcohols

(B) they cannot form hydrogen bonds
with water

(C) they are stable compounds and are
not reactive

(D) C -Xbond cannot be broken easily

33. Which of the following reagents can
not be used to oxidise primary
alcohols to aldehydes ?

A) CrOs in anhydrous medium

B) KMnOy in acidic medium

C) Pyridinium chlorochromate

D) Heat in the presence of Cu at 573 K

—_~ A~ o~ o~

34. Phenol when treated with excess of
bromine water gives a white
precipitate of:

A) 2, 4, 6-tribromophenol
B) o-bromophenol
C) p-bromophenol
D) bromobenzene

—_~ o~ A~ o~

31. Tt siftrp e BT HUTHS HIT 3T
faaeft FH1e T Faar § o R grEsiom

TRATULSH B AT GATH B § | 39
A P Pea g

(A) Bhd BT TH

(B) TUC g% &1 fFaH
(C) Yoo &1 g

(D HIhicIDhIE BT FaH

32, TebIsdl BeNS ol H Y- 8ld &,

(A) d ST & 1Y 3THfhdT HR Tehlgd
CEIch
(B) T STCT o I GTEGIoM MY el

GEll
(C) 3 T i & 3R Fopameiier et &
(D) C — X 3{Ta= &1 T I faaifora
gl fopar S gahdr

33. UTUfE Tehigd & SHTRIHRUr 4
UfeSges 9 & ot g siftyemde
B IYGT 81 fohaT S qHha §

(A) CrO; 3T ATTH |

(B) KMnO, 3f+ig HegH H

(C) UERSIFaH WRIBHe

(D) Cu & IUfRYeH H 573K TR T
BT

34, fopeTa o1 sif¥fohar snfdre s o/a 9
PIA R g Arid BT d 3GQU
EITE[@FIT%

(A) 2, 4, 6-CTeSHITBAI
(B) o- T

Q) p-

(D) STHIESIH




35. CHs-OH + CoHs-MgBr ----> ‘A’ 35. CeHs-OH + CoHs-MgBr ---> ‘A’
Here 'A’is: TET'A'®
(A) CeHs (A) CgHe
(B) C2H6 (B) C2H5
(€) CHsOH (C) CHsOH
(D) CGHSBr (D) C5H5Br




